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INTERMEDIATE EXAMINATION – 2021 (ANNUAL) 

 Model Set 

ENTREPRENEURSHIP 

I.Com. 

Time : 3 hours 15 minutes       

Full Marks: 70

Total No. of questions : 70 + 20 + 6 =96 

Instructions for the candidates :- 

1- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as 

far as practicable. 

2- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

3- bl iz’u i= dks /;kuiwoZd i<+us rFkk funsZ’kksa dk vuqikyu ds fy, 15 feuV 

dk vfrfjDr le; fn;k x;k gSA 

15 minutes of extra time has been allotted for the candidates to 

read the questions and follow the instructions carefully. 

4- ;g iz’u&i= nks [k.Mksa esa gS]  ,oa  

This question paper has two sections: Section-A and Section-B. 

Subject Code :- 218 
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5- [k.M&v esa 70 oLrqfu"B iz’u gSa] ftuesa ls fdUgha 35 iz’uksa dk mrj nsuk 

vfuok;Z gSA 35 iz’uksa ls vf/kd dk mÙkj nsus ij izFke 35 mÙkjksa dk gh 

ewY;kadu gksxkA izR;sd iz’u ds fy, 1 vad fu/kkZfjr gSA budk mÙkj miyC/k 

djk;s x;s OMR&’khV esa fn;s x;s lgh o`Ùk dks dkys@uhys ckWy isu ls HkjsaA 

fdlh Hkh izdkj ds OgkbVuj@rjy inkFkZ@CysM@uk[kwu vkfn dk OMR 'khV 

esa iz;ksx djuk euk gS] vU;Fkk ijh{kk ifj.kke vekU; gksxkA 

In Section-A, there are 70 objective type questions in which 35 

questions are to be answered. If more than 35 questions are 

answered, then only first 35 answers will be evaluated. Each 

question carries 1 mark. Darken the circle with black/blue ball 

pen against the correct option on OMR Sheet provided to you. 

Do not use Whitener/Liquid/Blade/Nail on OMR Sheet, otherwise 

the result will be treated as invalid. 

6- [k.M&c esa 20 y?kqmÙkjh; iz’u gSa] izR;sd ds fy, 2 vad fu/kkZfjr gSA ftuesa 

ls fdUgha 10 iz’uksa dk mÙkj nsuk vfuok;Z gSA buds vfrfjDr bl [k.M esa 6 

nh?kZ mÙkjh; iz’u fn;s gSa] izR;sd ds fy, 5 vad fu/kkZfjr gSA ftuesa ls fdUgha 

3 iz’uksa dk mÙkj nsuk vfuok;Z gSA  

In Section-B, there are 20 Short Answer Type questions. Each 

question carries 2 marks, out of which any 10 questions are to be 

answered. Apart from this there are 6 Long answer type 

questions. Each question carries 5 marks. Out of which 3 

questions are to be answered. 
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7- fdlh izdkj ds bysDVªkWfud midj.k dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly  prohibited. 

Section –A 

Objective Type Questions 

iz'u la[;k 1 ls 70 rd ds izR;sd iz’u ds lkFk pkj fodYi fn, x, gSa] ftuesa ls ,d 

lgh gSA fdUgha 35 iz’uksa dk mÙkj vius }kjk pqus x, lgh fodYi dks OMR 'khV ij 

fpfàr djsaA            35x1=35 

Question No.- 1 to 70 have four options out of which one is correct. 

Answer any 35 questions. You have to mark your selected option on the 

OMR sheet.         35x1=35 

1- ftu mRiknksa dh ekax vf/kd gksrh gS os gksrs gSa & 

A. vf/kd ykHkizn 

B. vf/kd gkfudkjd 

C. A vkSj B nksuksa    

D. mi;qZDr esa ls dksbZ ugha 

The products which are in more demand are :- 

A. More profitable   

B. More loss-making 

C. Both A and B    

D. None of the above 
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2- fuEu esa ls dkSu&lk volj cks/k dk rÙo gS \ 

A- le> dh 'kfDr 

B- ifjorZu dh utj 

C- uoizorZuh; xq.k 

D- buesa ls lHkh 

Which of the following is an element of sensing of opportunities? 

A. Ability to perceive   B. Insight into the change 

C. Innovative quality   D. All of these 

3- vkfFkZd lgk;rk gS % 

  A.  fj;k;r     `   B.  cV~Vk 
 
   C.  iqu% Hkqxrku    D- buesa ls dksbZ ugha 

        

Subsidies are :- 
 
A. Concession    B. Discount  

C. Repayment    D.  None of these 

4- cktkj ewY;kadu dks dkSu lk rRo izHkkfor ugha djrk gS \ 

A- lw{e okrkoj.k    B- foi.ku e/;LFk 

C- ek¡x      D- izfr;ksxh 

Which element does not affect market assessment ? 

A. Micro environment   B. Market Intermediaries 
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C. Demand     D. Competitor 

5- lQy miØe dh vko’;d 'krZ gS %& 

A- izHkkoiw.kZ fu;kstu    B- lqifjHkkf"kr laLFkkxr y{; 

C- A ,oa B nksuksa    D- buesa ls dksbZ ugha 

Requisites of successful enterprise are - 

A. Effective planning   

B. Well defined organizational goal 

C. Both A and B 

D. None of these 

6- ,d vPNh ;kstuk gksrh gS % 

A- [kphZyh     B- le; ysus okyh 

C- ykspiw.kZ      D- ladh.kZ 

A good plan is - 

A. Expensive    B. Time consuming 

C. Flexible     D. Narrow 

7- fu;kstu gksrk gS & 

A- Hkwrdky ds fy,    B- Hkfo"; ds fy, 

C- orZeku ds fy,    D- lHkh ds fy, 

Planning is for - 

A. Past     B. Future 
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C. Present     D. For all 

8- ifj;kstuk fuEufyf[kr ls lEcfU/kr ugha gksrh gS & 

A- uoizoÙkZu     B- dYiuk 'kfDr 

C- tksf[ke     D- l`turk 

Project is not concerned with - 

A. Innovation    B. Vision  

C. Risk     D. Creativity 

9- mRikn fodkl izfØ;k esa 'kkfey gksrs gSa & 

A- ,d voLFkk     B- nks voLFkk 

C- rhu voLFkk     D- pkj voLFkk 

Product Development Process involves - 

A. One stage    B. Two stage 

C. Three stage    D. Four stage 

10- mRiknu izfØ;k ugha gksuh pkfg, & 

A- yEch      B- le; u"V djusokyh 

C- tfVy     D- mi;qZDr lHkh 

Production process should not be - 

A. Long     B. Time wasting 

C. Complicated    D. All the above 

11- fuEufyf[kr egRoiw.kZ fo"k; ugha gS & 



7 
 

A- rduhd     B- Jfed 

C- mRikn      D- mi;qZDr esa ls dksbZ ughaA 

The following is not an important issue - 

A. Technology    B. Workers 

C. Product     D. None of the above 

12- nh?kZdkyhu _.k ij gksrk gS & 

A- fLFkj C;kt nj    B- ifjorZu’khy C;kt nj 

C- 'kwU; C;kn nj    D- mi;qZDr esa ls dksbZ ugha 

Long term loan bears - 

A. Fixed rate of interest   B. Flexible rate of interest     

C. Zero rate of interest   D. None of the above 

13- 'kq) dk;Z’khy iw¡th dk vFkZ gS & 

A- pkyw lEifÙk & pkyw nkf;Ro  B- pkyw lEifÙk $ pkyw nkf;Ro 

C- pkyw nkf;Ro & pkyw lEifÙk  D- mi;qZDr esa ls dksbZ ugha 

Net working capital means - 

A. C.A. – C. L.    B. C.A. + C.L. 

C. C.L. – C.A.    D. None of the above 

14- B.E.P. og gS tgk¡ & 

A- vf/kdre ykHk gksrk gS   B- fuEure ykHk gksrk gS 

C- u ykHk gksrk gS vkSj u gkfu  D- buesa ls dksbZ ugha 

B. E. P. is that where - 
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A. There is maximum profit  B. There is minimum profit 

C. There is neither profit nor loss D. None of these 

15- ykHknk;drk vuqikr lkekU;r;k iznf’kZr dh tkrh gS & 

A- lk/kkj.k vuqikr esa    B- izfr’kr esa 

C- xq.kk esa     D- buesa ls dksbZ ugha 

Profitability Ratio is generally shown in - 

A. Simple ratio    B. Percentage 

C. Times     D. None of these 

16- LdU/k vkorZ vuqikr vkrk gS & 

A- rjyrk vuqikr    B- ykHknk;drk vuqikr 

C- fØ;k’khyrk vuqikr   D- foÙkh; fLFkfr vuqikr 

Stock Turnover Ratio comes under -  

A. Liquidity Ratio           B. Profitability Ratio 

C. Activity Ratio    D. Financial Position Ratio 

17- pkyw vuqikr gksrk gS & 

A- vkfFkZd fpV~Bk vuqikr   B- ykHk gkfu vuqikr  

C- fefJr vuqikr    D- buesa ls dksbZ ugha 

Current Ratio is - 

A. Balance Sheet Ratio   B. P/L Ratio 

C. Composite Ratio   D. None of these 



9 
 

18- foÙkh; izcU/k ds vUrZxr gS & 

A- ykxr fu;U=.k    B- ctV fu;U=.k 

C- izcU/kdh; ys[kkadu    D- mi;qZDr lHkh 

Financial management includes - 

A. Cost control    B. Budget control 

C. Management accounting  D. All the above 

19- izcU/k gS & 

A- dyk      B- foKku  

C- dyk vkSj foKku nksuksa   D- buesa ls dksbZ ugha 

Management is - 

A. Art      B. Science 

C. Art and science both   D. None of these 

20- m|eh dk dÙkZO; gS & 

A- equkQk olwyh    B- dj pksjh 

C- i;kZoj.k iznw"k.k    D- buesa ls dksbZ ugha  

Duty of entrepreneur is - 

A. Profiteering    B. Tax evasion 

C. Environmental pollution  D. None of these 

21- dqy ykxr esa 'kkfey gS & 

A- eq[; ykxr     B. dkj[kkuk ykxr    
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C- mRiknu ykxr    D.  buesa ls lHkh 

Total costs include - 

A. Prime cost    B. Works cost 

C. Production cost    D. All of these 

22- foKkiu gS & 

A- ,d O;fDrxr lEizs"k.k izfØ;k   

B- ,d xSj&oS;fDrd lEizs"k.k izfØ;k 

C- ,d fyf[kr lEizs"k.k izfØ;k  

D- buesa ls dksbZ ugha 

Advertisement is - 

A. A personal communication process 

B. A non-personal communication process 

C. A written communication process 

D. None of these 

23- ckW.M _.k] lk/ku gS & 

A- vYi&vof/k _.k dk   B- e/;&vof/k _.k dk 

C- nh?kZ&vof/k _.k dk   D- buesa ls dksbZ ughA 

Bond loan is a source of - 

A. Short-term loan    B. Medium-term loan 

C. Long-term loan    D. None of these 

24- lap;h vf/keku va’kksa ij ykHkka’k fn;k tkrk gS & 
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A- ykHk okys o"kZ esa    B- gkfu okys o"kZ esa 

C- gj o"kZ] ykHk gks ;k gkfu   D- buesa ls dksbZ ugha 

Dividend on cumulative preference shares is given - 

A. In the year of profit     

B. In the year of loss 

C. Every year whether there is profit or loss 

D. None of these 

25- IDBI fdl o"kZ LFkkfir dh xbZ \ 

A- 1944      B- 1954 

C- 1964  a    D- 1974 

In which year IDBI was established ? 

A. 1944      B- 1954 

C- 1964  a    D- 1974 

26- py ykxr dk Js"Bre mnkgj.k gS & 

A- iw¡th ij C;kt     B- lkexzh ykxr   

C- /ku dj     D- fdjk;k  

Best example of variable cost is - 

A. Interest on capital   B. Material cost  

C. Wealth tax    D. Rent 

27- LFkk;h ykxr izfr bdkbZ c<+rh gS] tc & 

A- mRiknu de gksrk gS   B- mRiknu c<+rk gS 
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C- mRiknu iwoZor~ jgrk gS   D- buesa ls dksbZ ugha 

Fixed cost per unit increases when - 

A. Production decreases   B. Production Increases 

C. Production remains same  D. None of these 

28- Hkkoh oLrqvksa dk foØ; vuqcU/k gS & 

A- foØ;     B- foØ; dk le>kSrk 

C- O;FkZ      D- O;FkZuh; 

A contract for sale of future goods is - 

A. Sale     B. Agreement of sale 

C. Void     D. Viodable 

29- ,d fofue; foi= ek¡x ij /kkjd dks ns; gS & 

A- oS/k      B- O;FkZuh; 

C- voS/k      D- 'krZ lfgr 

On a bill of exchange, payable to bearer on demand is - 

A. Valid     B. Voidable 

C. Invalid     D. Conditional 

30- foi.ku ij [kpZ fd;k /ku gS & 

A- cckZnh     B- vuko’;d O;; 

C- xzkgdks ij Hkkj    D- fofu;ksx 

Money spent on marketing is - 

A. wastage     B. unnecessary expenditure 
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C. Burden on customers   D. Investment 

31- vkfFkZd lgk;rk gS & 

A- jksdM+ vuqnku    B- dj eqDr _.k 

C- fdjk;k esa NqV    D- mi;qZDr lHkh 

Subsidy is - 

A. Cash grants    B. Interest free loan 

C. Rent Rebate    D. All the above 

32- mRiknu :ijs[kk dh izfØ;k foHkkftr gS  & 

A- nks oxksZ esa       B- rhu oxksZa esa 

C- pkj oxksZ esa       D- N% oxksZ esa 

The process of production design is divided into - 

A. Two categories    B. Three categories 

C. Four categories    D. Six categories 

33- vkn’kZ pkyw vuqikr gksrk gS & 

A- 2 % 1     B- 1 % 2 

C- 3 % 2     D- 4 % 1 

Ideal current ratio is - 

A. 2 % 1      B- 1 % 2 

C- 3 % 2     D- 4 % 1 

34- va’knku gS & 
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A- fcØh ?kVko fLFkj ykxr   B- fcØh ?kVko ifjorZu’khy ykxr 

C- fcØh ?kVko dqy ykxr   D- buesa ls dksbZ ugha 

Contribution is - 

A. Sales less fixed cost   B. Sales less variable cost 

C. Sales less total cost   D. None of these 

35- pkyw lEifÙk esa 'kkfey gksrk gS & 

A- miLdj     B- fofu;ksx 

C. [;kfr     D. nsunkj 

Current Assets include - 

A. Furniture     B. Investment 

C. Goodwill     D. Debtors 

36- dks"k&izokg fo’ys"k.k esa iz;qDr ^dks"k* 'kCn dk vk’k; gS & 

A- dsoy jksdM+      

B- pkyw lEifÙk;k¡ 

C. pkyw nkf;Ro      

D. pkyw lEifÙk;ksa dk pkyw nkf;Ro ij vkf/kD;A 

The meaning of the word “Fund” applied in fund flow analysis is :- 

A. Only Cash     

B. Current Assets 

C. Current liability     

D. Excess of current assets over current liability 

37- ifjek.kuh; ifj;kstukvksa ls fuEufyf[kr lEcfU/kr ugha gS & 
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A- fctyh mRiknu    B- [kfut mRiknu 

C. ifjokj dY;k.k    D. tykiwfrZ 

The following is not related with quantitable projects - 

A. Power Generation   B. Mineral Production 

C. Family Welfare    D. Water Supply 

38- fu;kstu lHkh izcU/kdh; fØ;kvksa dk gS & 

A- izkjEHk     B- vUr 

C. izjEHk rFkk vUr nksuksa   D. buesa ls dksbZ ugha 

Of all managerial activities, planning is the - 

A. Beginning     B. End 

C. Beginning and end both  D. None of these 

39- lcls vf/kd O;id {ks= gS & 

A- czk.M      B- yscfyax 

C. iSdsftax     D. O;kikj ekdZ 

Maximum wide scope is of - 

A. Brand     B. Labelling 

C. Packaging    D. Trade Mark 

40- miØe dk pquko fuHkZj djrk gS & 

A- okrkoj.k ij    B- lkglh dh Lo;a dh ;ksX;rk ij 

C. lkglh ds vf/kdkj  ij   D. buesa ls dksbZ ugha 

Selection of an enterprise depends on - 

A. Environment         
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B. Self ability of an entrepreneur 

C. Right of entrepreneur 

D. None of these 

41- IykaV ,oa e’khu ij gªkl gS & 

A- dks"k dk lzksr    B- dks"k dk iz;ksx 

C. dks"k dk izokg ugha    D. buesa ls dksbZ ugha 

Depreciation on Plant and Machinery is - 

A. Source of fund    B. Application of fund 

C. No flow of fund    D. None of these 

42- Hkkjr fuos"k dks"k fdlds }kjk LFkkfir fd;k x;k\ 

A- vkbZ ,Q lh vkbZ    B- fxz.Myst cSad 

C. LVsV cSad vkWQ bafM;k   D. dsujk cSad 

India Investment fund was established by whom ? 

A. IFCI      B. Grindlays Bank 

C. State Bank of India   D. Canara Bank 

43- O;kolk; dk fu;ked <k¡pk lacfU/kr gksrk gS & 

A- O;oLFkkiu     B- fu;e cukuk 

C. vf/kfu;e ykxw djuk   D. mijksDr lHkh 

Regulatory framework of business is concerned with - 

A. Regulation    B. Formulation of Rules 

C. Enactment of Acts   D. All the above 

44- Ckktkj ewY;kadu ds fy, fuEufyf[kr ckrs vko’;d gS & 
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A- ek¡x      B- iwfrZ 

C. izfrLi/kkZ dh izd`fr    D. mi;qZDr lHkh 

Following things are necessary for market assessment - 

A. Demand     B. Supply 

C. Nature of competition   D. All of the above 

45- midj.kksa ds izek.khdj.k esa deh gksrh gS & 

A- vkarfjd ck/kkvksa ls    B- cká ck/kkvksa ls 

C. ljdkjh ck/kkvksa ls    D. fu;ked ck/kkvksa ls 

Lack of standardisation of the equipment is due to - 

A. Internal constraints   B. External constraints 

C. Government constraints  D. Regulatory constraints 

46- vk/kkjHkwr l{kerk lEcfU/kr gS & 

A- cká ewY; o/kZu    B- rkfRod ewY; o/kZu 

C. vkUrfjd ewY; o/kZu   D. mi;qZDr esa ls dksbZ ugha 

Core competency is related with - 

A. External value addition  B. Intrinsic value addition 

C. Internal value addition  D. None of the above 

47- fu;fer dk;Z’khy iw¡th dk va’k gksrk gS & 

A- LFkk;h dk;Z’khy iw¡th   B- ifjorZu’khy dk;Z’khy iw¡th 

C. 'kq) dk;Z’khy iw¡th    D. mi;qZDr esa ls dksbZ ugha 

Regular working capital is the part of - 

A. Permanent working capital  B. Variable working capital 
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C. Net working capital   D. None of the above 

48- udn Ø; ds dkj.k LFkk;h lEifr esa òf) gS & 

A- dks"k dk izokg    B- dks"k dk iz;ksx 

C. lEifÙk esa gªkl    D. buesa ls dksbZ ugha 

Increase in fixed Assets due to cash purchases is - 

A. Sources of fund    B. Application of fund 

C. Depreciation in Assets  D. None of these 

49- izkjfEHkd jgfr;k gS & 

A- dks"k dk lzksr    B- dks"k dk iz;ksx 

C. dks"k dk izokg ugha    D. buesa ls dksbZ ugha 

Opening stock is - 

A. Source of fund    B. Application of fund 

C. No flow of fund    D. None of these 

50- fuEufyf[kr esa dkSu xSj&pkyw lEifÙk gS & 

A- [;kfr      B- izkI; fcy 

C. iwoZnÙk O;;     D. nsunkj 

Which of the following is a non-current asset - 

A. Goodwill     B. Bill receivable 

C. Prepaid Expenses   D. Debtors 

51- lqj{kk lhek gS % 

A- B.E.P. ij fcØh ?kVko okLrfod fcØh  

B- okLrfod fcØh ?kVko B.E.P ij fcØh 
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C. fcØh ?kVko va’knku 

D. buesa ls dksbZ ugha 

Margin of safety is - 

A. sales on B.E.P. less Actual Sales 

B. Actual sales less sales on B.E.P. 

C. Sales less contribution 

D. None of these 

52- LdU/k vkorZ vuqikr vkrk gS & 

A- rjyrk vuqikr esa    B- ykHknk;drk vuqikr esa 

C. fØ;k’khyrk vuqikr esa   D. foÙkh; fLFkfr vuqikr esa 

Stock Turnover Ratio comes under - 

A. Liquidity Ratio    B. Profitability Ratio 

C. Activity Ratio    D. Financial Position Ratio 

53- ldy fofu;ksftr iw¡th cjkcj gksrh gS & 

A- dqy lEifÙk ds    B- 'kq) lEifÙk ds 

C. va’k/kkjh dks"k ds    D. ldy ykHk ds  

Gross capital employed is equal to - 

A. Total Assets    B. Net Assets 

C. Shareholder’s Fund   D. Gross Profit 

54- lkgfld iw¡th fopkj loZizFke mRiUu gqvk & 

A- Hkkjr      B- baXyS.M 

C. vesfjdk     D. tkiku 
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The thought of venture capital first evolved in - 

A. India     B. England 

C. America     D. Japan 

55- Je&xgu izkS|ksfxdh mi;ksxh gS D;ksafd bldh izdf̀r & 

A- fodkl’khy ns’kksa gsrq    

B- fodflr ns’kksa gsrq 

C. fiNM+h vFkZO;oLFkk gsrq    

D. buesa ls dksbZ ugha 

Labour intensive technology is suitable because its nature is for - 

A. Developing Countries   B. Developed Countries 

C. Backward economies   D. None of these 

56- mRiknu izcU/k gS & 

A- mRiknu fu;kstu    B- mRiknu fu;a=.k 

C. fdLe fu;U=.k    D. mi;qZDr lHkh 

Production management is - 

A. Production Planning   B. Production Control 

C. Quality Control    D. All of the above 

57- O;fDrxr foØ; gS & 

A- ekSf[kd izLrqfr    B- fyf[kr izLrqfr 

C. n’̀; izLrqfr     D. buesa ls dksbZ ugha 

Personal selling is - 

A. Verbal Presentation   B. Written Presentation 
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C. Visual Presentation   D. None of these 

58- cSd lk[k ,d lzksr gS & 

A- vYi&vof/k foÙk dk   B- e/;&dkfyd foÙk dk 

C. nh?kZ&dkfyd foÙk dk   D. buesa ls dksbZ ugha 

Bank credit is a source of - 

A. Short-term finance   B. Medium-term finance 

C. Long-term finance   D. None of these 

59- jkT; foÙkh; fuxe vf/kfu;e Hkkjr esa fdl o"kZ ikfjr fd;k x;k \ 

A- 1948      B- 1949 

C. 1950      D. 1951 

In which year the SFC Act was passed in India ? 

A. 1948      B- 1949 

C. 1950      D. 1951 

60- fuEu esa ls LFkk;h ykxr dk mnkgj.k gS & 

A- izR;{k lkexzh ykxr   B- pktZ ;ksX; ykxr 

C. dk;kZy; izcU/kd dk osru   D. izR;{k Je ykxr 

Example of fixed cost, from the following is : 

A. Direct Material cost   B. Chargeable cost 

C. Salary of office manager  D. Direct labour cost 

61- ryiV ,d & 

A- O;fDrxr [kkrk gS    B- okLrfod [kkrk gS 

C. ukeek= [kkrk gS    D. [kkrk 'ks"k dh vuqlwph gS 
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Trial Balance is a - 

A. Personal Account    

B. Real Account 

C. Nominal Account    

D. Schedule of Account balances 

62- lkekU;r% fofo/khdj.k oxhZdr̀ fd;k tkrk gS & 

A- nks rjhdksa esa     B- rhu rjhdks esa 

C. pkj rjhdksa esa    D. ik¡p rjhdks esa 

Generally, diversification is classified into - 

A. Two types     B. Three types 

C. Four types    D. Five types 

63- oS/kkfud :Ik ls] fcØh vuqcU/k esa lfEefyr gS & 

A- fcØh      B- foØ; le>kSrk 

C. oLrq&fofue;    D. nksuksa A rFkk B

Lagally, a contract of sale includes - 

A. Sale     B. Agreement to sale 

C. Barter     D. Both A and B 

64- fdl vuqikr ds varxZr ,d vo;o 1 gksrk gS \ 

A- foÙkh; fLFkfr vuqikr   B- fØ;k’khyrk vuqikr 

C. ykHknk;drk vuqikr   D. fefJr vuqikr 

Under which Ratio one component is taken as one (1) : 

A. Financial Position Ratio  B. Activity Ratio 
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C. Profitability Ratio   D. Composite Ratio 

65- eqnzkLQhfr fuf’pr gh lEcfU/kr gksrh gS & 

A- O;olk; dh ek=k ls   B- O;olk; dh mRikndrk ls 

C. O;olk; dh O;ogkZ;rk ls   D. buesa ls dksbZ ugha 

Inflation is certainly related with - 

A. Volume of Business   B. Productivity of Business 

C. Viability of Business   D. None of these 

66- m|ferk ds vojks/k jksdrs gSa & 

A- uo&l`tu     B- ykHknk;drk 

C. vfuf’prrk     D. buesa ls dksbZ ugha 

Barriers to entrepreneurship stifle - 

A. Innovation    B. Profitability 

C. Uncertainty    D. None of these 

67- ,d m|eh & 

A- tUe ysrk gSA    B- cuk;k tkrk gSA 

C. A ,oa B nksuksa    D. buesa ls lHkh 

An entrepreneur is - 

A. Born     B. Made 

C. A and B both    D. All of these 

68- Hkkjr esa cy fn;k tkrk gS & 

A- izf’k{k.k dsUnz esa izf’k{k.k ij  B- dk;ZLFky izf’k{k.k ij 

C. dk;Z ds ckgj izf’k{k.k ij   D. buesa ls lHkh 
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In India, stress is given on - 

A. Training in the training centre B. On the job training 

C. Off the job training   D. All of these 

69- Hkkjr esa fons’kh m|fe;ksa dh Hkwfedk gS & 

A- udkjkRed     B- ldkjkRed 

C. fouk’kdkjh     D. buesa ls dksbZ ugha 

Role of foreign entrepreneur in India is - 

A. Negative     B. Positive 

C. Destructive    D. None of these 

70- ifj;kstuk rS;kj dh tkrh gS & 

A- izorZdksa }kjk     B- izca/kd }kjk 

C. m|eh }kjk     D. buesa ls lHkh 

Project is prepared - 

A. By promoters    B. By Manager 

C. By entrepreneur   D. All of them 

Section-B  

Short Answer Type Questions 

iz’u la[;k 1 ls 20 rd y?kq mÙkjh; dksfV ds iz’u gSaA buesa ls fdUgha 10 iz’uksa ds mÙkj 

nsaA izR;sd iz’u ds fy, 2 vad fu/kkZfjr gSaA     10x2=20 

Question no. 1 to 20 are Short answer type questions. Answer any 10 

questions. Each question carries 2 marks.    10x2=20 
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1- lkgfld volj cks/k D;k gS \ 

What is the sensing of entrepreneurial opportunities ? 

2- cktkj ewY;kadu D;k gS \ 

What is market assessment ? 

3- O;kolkf;d miØe ds dksbZ nks Lo:Ik crk;saA 

Mention any two forms of business enterprise. 

4- O;olk; fu;kstu dh ifjHkk"kk nsaA 

Define business plan. 

5- ifj;kstuk fu;kstu dk D;k {ks= gS \ 

What is the scope of project planning ? 

6- cktkj O;ogk;Zrk D;k gS \ 

What is market feasibility ? 

7- LFkku pquko ds cká dkjdksa dh O;k[;k dhft,A 

Discuss the external factors of site selection. 

8- ifj;kstuk izfrosnu dks ifjHkkf"kr dhft,A 

Define project report. 

9- iquHkZqxrku vof/k D;k gS \ 

What is pay-back period ? 

10- dk;Z’khy iw¡th ds egRo dks crkb,A 

Discuss the importance of working capital. 

11- lerk va’k D;k gS \ 

What is equity share ? 
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12- le&foPNsn fcUnq D;k gS \ 

What is break-even point ? 

13- ykHknk;drk vuqikr dh O;k[;k dhft,A 

Discuss profitability Ratio. 

14- O;olk; uhfr D;k gS \ 

What is a business policy ? 

15- lkgfld iw¡th dh ifjHkk"kk nhft,A  

Define venture capital. 

16- izcU/k ds fopkj dh O;k[;k dhft,A 

Discuss management concept. 

17- Ckktkj D;k gS \ 

What is market ? 

18- iSdsftax ds ykHk D;k gS \  

What are the benefits of packaging ? 

19- fu;kstu dh dksbZ nks fo’ks"krk crk;saA  

Mention any two features of planning. 

20- Ekk¡x iwokZuqeku dh lhekvksa dks crkb,A  

Discuss the limitations of demand forecasting.

Long Answer Type Questions

iz’u la[;k 21 ls 26 rd nh?kZ mÙkjh; dksfV ds gSaA buesa ls fdUgha 3 iz’uksa ds mÙkj nsaA 

izR;sd iz’u ds fy, 5 vad fu/kkZfjr gSaA      3x5=15 
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Question no. 21 to 26 are Long answer type. Answer any 3 questions. 

Each question carries 5 marks.      3x5=15 

21- O;kolkf;d volj D;k gS \ O;kolkf;d voljksa dh igpku dh izfØ;k dk 

ijh{k.k djsaA 

What is business opportunity? Examine the process of identifying 

the business opportunities. 

22- LFkk;h iw¡th ,oa dk;Z’khy iw¡th esa vUrj dhft,A 

Distinguish between fixed capital and working capital. 

23- le&foPNsn fcUnq pkVZ D;k gS\ blds ykHkksa dks crkb,A 

What is B.E.P. chart? Mention its advantages ? 

24- ,d vPNs foKkiu ds izeq[k xq.k D;k gS \ foKkiu ds ykHkksa dks Li"V djsaA 

What are the important qualities of a good advertisement ? 

Explain the benefit of advertisement. 

25- izcU/k ds dk;ksZa dks le>kb,A 

Discuss the functions of management. 

26- m|eh dks foÙkh; lk/kuksa dks ,df=r djus ds fy, D;k djuk pkfg,\ 

le>kb,A 

What the entrepreneur should do to mobilize the financial 

resources ? Explain. 


